oMt —KEFOB
202548 A 7H(K)
A ) =957

=R EF4 ifT4#r [OUT| IN | TOTAL
1 F&ER X izl 35 35 70
2 8iE IBA izl 36 36 72
3 Z%x RE et 39 35 74
25 &k— M 39 35 74
=E EX FEM 36 38 74

6 IE¥F %A KZEH 40 35 75
ngE EE /NN 39 36 75
N EF] s amh 39 36 75
SH EE etigii] 38 37 75
i 1EBA Eptadisl 36 39 75
INF FRE] etigii] 35 40 75
12 F&ft =% FEH 39 37 76
BH BEX FEM 38 38 76
EIWE ) fatE™ 37 39 76
Hd #—B KRN 36 40 76
16 Tk AN eti] 39 38 77
Bl &8k =kl 37 40 77
18 HHE B A 42 36 78
K EnE \FHKH 38 40 78
INFR K FER 38 40 78
21 #8K FE EiEH 41 38 79
AL 1E5BR AR 38 41 79
A #N FNdam™ 38 41 79
24 AKX EiE Ml 41 39 80
wE B BEEHH 40 40 80
EER ER BiZmh 39 41 80
&=H B= Ml 39 41 80
H FE BiZmh 39 41 80
BH &R mnEm™ 38 42 80
&t fE R E 35 45 80
31 EH Fa et 43 38 81
B Es AEEH 39 42 81
F¥iE {53 e 25 o] 39 42 81
4 B Kth i 43 39 82
=S ER EEM 40 42 82
KR &35k fafE™ 40 42 82
37 KiE BT Fidam 43 40 83
a8 B ka™ 41 42 83
ik &t Il 41 42 83
FiE FHt RIERT 41 42 83
KR EE WEM 40 43 83
BiE K& M 39 44 83
43 Sl H— e 46 38 84
£R A3k FEM 42 42 84
e &A il 41 43 84
ik sh& Rt 41 43 84
Al 13 FEM 41 43 84
mH BAE FEM 40 44 84
L% =8| T 39 45 84
50 RE B FEM 44 41 85
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FemuHER —HEFDI

20258 A7H(K)
hlho ) =557
=R EF4 ifT4#r [OUT| IN | TOTAL
KAR # KB Em 43 42 85
52 k¥ it MR 46 40 86
BE & WwEM 44 42 86
BR =— izl 43 43 86
X% @E AREZEM 42 44 86
56 Tk B FEM 48 39 87
HEE X Ml 45 42 87
BEH F fatE™ 40 47 87
59 Bl £ e A o] 45 43 88
INE BEE A& 2R 45 43 88
61 KiE Eit Ml 44 45 89
62 % FH FEM 47 43 90
F/A E Ml 45 45 90
64 B85 B— infE™ 46 45 91
= N AREEM 45 46 91
Hed R5h I\ 43 48 91
67 ARH & MR 48 45 93
68 BAIR #hiE NN ] 50 44 94
Tk 24 ENdaH 47 47 94
70 ARER flith ARm 49 47 96
BAR % Ml 49 47 96
72 |LgF 3 AKEEH 51 46 97
FR RAE Ml 47 50 97
A B AREEM 46 51 97
75 Il FX i 51 53 104
RE hF HBH MR
RE K E# 47 kil
RIE kg E= INFHR™
RE FBK BKEB FEH
REBE = FEM
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